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Figure 15.3: AC waveform
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‘of an alternating quantity
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i two alternating quantities of the same frequency
they are said to have a phase difference.

‘between zero points is the angle of phase difference ¢, Jt
red in degrees or radians. The quantity which passes
15 said to leading while the other is said to be laggin

ntities have the same frequency, the phase difference
same. Phasor of waves can be ad

p is shown by waves in Figure. Thus in Figl5.7,
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50 Hz
| alternating voltage is v, = V2

I'=V/R = 220/20= 114 -
ge p p.wer P dissipated in the resistor is

P=VI=220x1]= 24
value of an alternating current f, = /3 7

W=27Tf=2nmx50=314
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8.85x10"2C* N"'m? is the permitivity of free spaceand
"Wb A'm is the permeability of free space.
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=3x10"ms™
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diation, which has wavelength stonger than the ’;5*3 |
mm), is commonly emitted by atoms or molecules when
tional or vibrational motion. Infrared radiation is an
heat transfer and is sometimes called heat radiation. The
 you place your hand near a glowing light bulb is primarily
ared radiation emitted from the bulb.
tromagnetic radiation (called "thermal radiation;") because of
bjects of temperatures ranges from , 3 K to 3000 K emit their
| radiation in the infrared region of the spectrum.
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/ changed in magnitude
y is effected badly
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/ insulator for
(b) Alternating ¢
alternating current (d) none of these
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